
Geometry 10
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 16/2 = 8 feet
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Chord

Radius

Tangent: 𝐷𝐸

Secant: 𝐴𝐺
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none
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෽𝑇𝑄 minor arc; 120°
෿𝑇𝑄𝑅 semicircle; 180°
෿𝑄𝑅𝑇 major arc; 𝑚෽𝑅𝑆 = 360° − 80° − 120° − 60° = 100°

𝑚෿𝑄𝑅𝑇 = 60° + 100° + 80° = 240°
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Yes; same radius and angle

No; different radius
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110°
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9𝑥 = 80 − 𝑥
10𝑥 = 80
𝑥 = 8

𝑚 ෽𝐶𝐷 = 9 8 = 72°

𝑚 ෽𝐶𝐸 = 2 72° = 144°
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4𝑥 + 1 = 𝑥 + 8
3𝑥 + 1 = 8
3𝑥 = 7

𝑥 =
7

3
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1

2
90° = 45°

72°



𝑥 + 82° = 180°
𝑥 = 98°

𝑦 + 68° = 180°
𝑦 = 112°

8𝑥 + 10𝑥 = 180
18𝑥 = 180
𝑥 = 10

𝑐 + 2𝑐 − 6 = 180
3𝑐 − 6 = 180
3𝑐 = 186
𝑐 = 62

31



32



33

ANS:   = ½ arc  36 = ½ x  x = 72
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ANS:  m3 = ½ (mRT + mPQ) m3 = ½ (50 + 120) = ½ 170 = 85
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𝑚∠𝐽 =
1

2
𝑚 ෽𝐹𝐺 − 𝑚 ෽𝐾𝐻

30° =
1

2
𝑎° − 44°

60° = 𝑎° − 44°
𝑎 = 104



36



37

ANS:  The chord can be subdivided into 2 ft and 2ft since the vertical line is a 
diameter.  To answer the question we need to know the theorems in the section.
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2(2) = 6x  x = 4/6 = 2/3 ft Not much room for his head 
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8(8 + 18) = 6(x + 6)  8(26) = 6x + 36  208 = 6x + 36  172 = 6x  28.67 = 
x
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x2 = 5(4 + 5)  x2 = 5(9)  x2 = 45  x = 6.71
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center at (3, -2) and r = 4
 center at (0, -3) and r = 2
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ANS:  𝑥 − 2 2 + 𝑦 + 4 2 = 3
2
→ 𝑥 − 2 2 + 𝑦 + 4 2 = 3
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ANS:  Graph the circle  center at (4, -2) r = 6
Graph the line (use either slope intercept or table of values)
It is a secant line
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